BREHE

T B Bl ¥ E = ] = ENRG S
EEEIT
(0.65+0.4)%0.845+16.15=14.33 (500 % 500)
0.92+0.73%16.15=1085 (BEZ)
14.33-1085-3.48
(0.76+0.5)0.985+4.0=4.96 (600%600)
(0.97+0,5)%1.05+2.0=3.09 (7005 600)
I T (0.97+0.5)%1.15+2.0=3.38  (700%700) 11 m3
(1.08+0.5)+1.16%2.0=3.67 (800+700)
0.92+0.63=058 1.1%0.93=102 (BEE)
0.58+1.02%1/2=0.8 08+10.0=8.0
(4.96+3.09+338+3.67)-8.0=7.1
348+7.1=10.58
0.4+0505%16.15=3.26
130
BHREL 7 m3 REL (BEL)
BLIE - B 11.58-6.90-3.68 4 m3
0.82+16.15=13.24
1.0%4.024.0
117%2.0=2.34
EEEE 117%20=2.34 2 m2
128%2.0-256
13.24+4.0+2.34+2.34+2.56=24.48
WET FRT 7 ST 3.4+29=6.3 6 m BP+EP
(34+32)1/2%16.65=54.95
FRIFLRHERY T (3.2+29)1/2x95=2898 84 m2
54.94+28.98=83.93
TR 7L R 83.93+0.04=336 34 m3
BHaV s U— MEET 9.02 90 m3 HELY
BBV Y ) — EER " 90 m3
FRT7L LB 336+2.35=7.90 79 t
BV ) — MLE 9.02+2.35=212 212 t
= —
EL FRTPLMRET 54.95+2898=63.93 84 m2 FBERHEA s 20F
0.4+16.15=6.46 s
IREET 05+100=50 12 m2 HLEFIE R EN-25
6.46+50=115 = 1bem
B9 55 RC-40
TEBET " 12 m2 eI
REERTE 83.92-1146=725 73 m2 BEHAL
AWET #7735 1 A48 500 X 500 - 16.15 m
AYR—FaVHY—FI/10m  |005%05%100=0.25 0.25 m3 18-8-2588
YT/ 10m 0.075%0.72+10.0=054 054 m3 18-8-2588
EBRET/10m 0.1+082+10.0=0.82 0.82 m3 RC40-0
#5647 2 1 AR SE600 X 600 - 40 m
{YA—RaAVHU—FI/I0m  |0.125%06%10.0=075 0.75 m3 18-8-2588
PRI/ 10m 0.1%0.9%10.0=0.9 09 m3 18-8-2568
ERBET/10m 0.1#1.0410.0=10 10 m3 RC40-0
#5647 2 1 AR 700 X 600 - 20 m
LYA—haAVHU—RI/I0m  |0.076%0.7%10.0=053 053 m3 18-8-2588
BRI/ 10m 0.1%1.07%10.0=1.07 107 m3 18-8-2568
EBBET/10m 0.15%1.17%10.0=1.76 18 m3 RC40-0
547 2 B AR 700 X 700 - 20 m
LYA—RaAVHU—FI/I0m  |0.129%0.7%10.0=090 0.90 m3 18-8-2588
HBEIH)-AT/10m 0.1%1.07%10.0=1.07 107 m3 18-8-2568
ERBET/10m 0.15%1.17%10.0=1.76 18 m3 RC40-0
#5647 5 1 AR SEB00 X 700 - 20 m
£YR—pAVHY—FI/I0m  [00930.8+100=074 074 m3 18-8-2588
BRI/ 10m 0.1%1.08%10.0=1.08 118 m3 18-8-2568
ERBET/10m 0.15%1.28%10,0=192 19 m3 RC40-0
IV U—E 1E5008 - 14 i L=05m&
JL—FUoE 18500/ - 1 % L=10m&
IV U—E 1E600R - 2 i L=05m&
JL—FUUE 18600/ - 1 % L=10m&
IvsU—E (EI00R - 4 i L=05m&
JL—FUoE 18800 - 1 % L=10m&
mEarvsu—+
g BHT (05+0.2) #21.65=15.15 152 m2
avoy—t 0.12405%21.65=1.29 13 m3 18-8-2588




